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OINXNEMMEHE =& 3,800
OZIIXNLHEAHEE M () A
20,000 = 1008 95% 1,900
OSIANYMEAHEAM M
20,000 = 1008 95% 1,900
oJI=22sHE =¥ 2,850
OJI222HE (o) M
15,000& = 408 = 33| 95% 1,710
OJl2s4duE28 S0AM M
20,0008 * 608 95% 1,140
OXEMEEX MAXE HE
25,0003 * 508 = 43| 95% 4,750
OSH MM &oXE H &
10,000& = 1008 * 33 95% 2,850
OXE A Z2A| 5,700
OXYUTHESAI(CH) AMoIXtE M A
10,000& * 258 * 23| 95% 475
OXNSTHAEZ2Al X M2
50,000& =* 558 * 23| 95% 5,225
203 € R =& 2,000 2,000 0
03 AIEH =X H 2 F X Y| 2,000 2,000 0
OF&EI MEAE L AAMPER =&
2,000,000& 2,000




SN0 A
HE: WY 2%

G 228 ME JH (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
ANegtExz 22 11,780 12,400 AN 620
201 gBt24d| 11,780 12,400 AN 620
01 AP 22| H| 11,780 12,400 A B620
oOXNsLEEZ A=
20,000& * 708 * 63 * 95% 7,980
oxNgExZ2 22l XE M
20,0003 * 2008 * 95% 3,800
ASTEHM AN 29 22,300 22,500 A 200
201 et 9,400 9,600 A 200
01 AR 22l ] 2,660 8,100 N5,440
OASIEHUHAMARS L ARG 2H 2,660
OASIENHU A ARG 3o =X H&
10,0008 = 208 = 23| *~ 95% 380
OASIENHU A /T 29 2,280
-3| O ZH b HI &
11,000& * 1008 * 23] * 95% 2,090
-9 M 100,0008 = 23| * 95% 190
03 A2 G| 6,740 1,500 5,240
oOuasm & HAE EOHOUAMM 2H 6,740
Onl4tstn 29 2,740
-2 A =S 370,000 * 23| 740
-ZHXF M & 10,000& = 1008 = 23| 2,000
OFAE EOHOUAH EHAIRH
4,000,000& = 13 4,000
301 et M= 12,900 12,900 0
09 HAIAHI X & 2 12,900 12,900 0
OXHEAKAZ AH B4
300,000 = 43 SH= 12,900
HadN2 29 30,000 30,000 0
303 ZAZ2 30,000 30,000 0
01 Za32 30,000 30,000 0
OulaAd = 30,000,000 30,000
HASEEMAHZS 88,932 99, 102 A 10,170
SUHQ HAUWERKIA =5 20,000 20,000 0
203 Y2 =&XH| 20,000 20,000 0
03 AIZH =& 2 5 X H| 20,000 20,000 0
OMSHSBSAEL 22X 20,000,000 20,000
M Y 29 68,932 79,102 A 10,170
201 Bt 55,252 47,222 8,030
01 AP 22| H| 52,420 36,540 15,880




S A ol & D
HH: WY 29
e HASEEHAHZS (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OAZ2 %L NSANRA 29 25,060
odx= 16,800
-KASAIE A 750,000 ~ 12€ 9,000
-NIEAE A 650,0008 ~ 12& 7,800
ozeldl 4,800
-NSAIEA 150,000& * 128 1,800
-NHIEAIE A 250,000 ~ 12€ 3,000
OAMRES EHI
120,000 = 20 » 128 % 95% 2,736
OZ&FHNEH 40,0008 * 24 + 43 * 95% 304
O&4D| Xz 35,000 ~ 10§ ~ 12&€ 420
ONMSANRA XHHSH 13,110
oOdx= 800,000& = 12& * 95% 9,120
S Sl 300,000& = 12€ * 95% 3,420
Oz EdHE 50,000& * 128 * 95% 570
OANHE E22E MZ
20,000 * 3 * 25004 * 95% 14,250
02 =224 H| 2,832 10,682 ANT7,850
OAHOI STV & 21,000 « 104 ~ 12€ 252
OZAIARZ 660
ONXSAIEA 50,000& = 12& 600
ONESAMNEA 5,000& ~ 12& 60
O0lsdzIR2 80,000 * 2CH = 12& 1,920
202 04| 13,680 26,880 A 13,200
01 2L Hl 13,680 26,880 A 13,200
O=2UW0aoHl
30,000& = 22 x 202 x 12&€ * 95% 13,680
ol g1 "l 26,266,203 35,553,721 N9,287,518
ol gl 8l 26,266,203 35,553,721 N9,287,518
ol g1 8] 26,266,203 35,553,721 N9,287,518
801 Ol 1l Hl 26,266,203 35,553,721 N9,287,518
01 Bt bl bl 13,500,000 35,553,721 N22,053,721
OBt gl gl 13,500,000, 000 13,500,000
B UHEREZ 12,766,203 0 12,766,203
oUEmr=E=2 12,766,203,000& 12,766,203
SHE A AH| (0l At 52,487 47,940 4 547
Jle&ddl 52,487 47,940 4 547
o=l 52,487 47,940 4,547
201 LBt | 20,479 19,020 1,459
01 AL 2tel | 20,479 19,020 1,459




A Ol &
FH: #HE2LZH (0D
o J2dl CEE-ED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OJl=gRdasH (IE3H)
500,000& = 17H = 95% 8,075
O=ZHI(J1E&HI)
8,000& ~ 17 * 8% » 12& » 95% 12,404
202 O4dl 27,908 25,920 1,988
01 = LH 4 Hi 27,908 25,920 1,988
O=UadotI(IIEZ4l)
20,0003 = 17 » 82 « 12& » 90% * 95% 27,908
203 YR =&l 3,600 3,000 600
04 RENSELR=LH| 3,600 3,000 600
©J| & H (152101 5t) 300,000& = 12& 3,600
405 RHoHE S HI 500 0 500
01 AL EZFH S 500 0 500
o023 500,000& = 1CH 500
MRS (0latn) 63,750,769 58,389,083 5,361,686
EdXE 27,523,253 30,208,670 A2,685,417
grat3g JIE 15,000,000 0 15,000, 000
802 BHEt = JIEF 15,000,000 0 15,000,000
01 2 NE2x3eeEa 10,000,000 0 10,000, 000
O=21LEX= MSINH Biatg
10,000,000, 000& 10,000,000
02 Al - SHIEXSEHEZ 5,000,000 0 5,000,000
OZHIEXS AISENH BtE =
5,000,000, 000& 5,000,000
KL & 12,523,253 30,208,670 N 17,685,417
311 X+ S0l At &f & 1,402,418 2,025,335 A622,917
01 Al -2 - FXNEMNLI =X S0l RS 693,000 1,374,000 A 681,000
O'12. 4 F~&35|2t S22 ELHFZA
800,000,000& * 3.5% 28,000
O'12.sHEHNSE ZEAMZ
4,000,000,000& * 3.5% 140,000
O'"15.HFH ZAL2AANE SEMY(XHE)
3,500,000,000& * 3% 105,000
©'15. BFEA~S M TREAZTA(KE)
7,000,000,000& * 3% 210,000
O'15. 2 =UHHNRIEZ2(FEL~28) A3 AH(
X&) 7,000,000,000& * 3% 210,000
05 JIEFXHY 3 O A& & 709,418 651,335 58,083
©'09.=sFJIsHH FAMOHAS
150,000,000 * 2.5% 3,750
O'M.2EZTSMISXNN2HE
800,000,000& * 2.5% 20,000
O'11.28cM22AHY 400,000,000 * 2.5% 10,000




SH: olaD
M YREs(Ha)
ol BEXE (chel & 9l)
o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
0122010 BA & =X A
400,000,000& * 2.5% 10,000
O'15.EEHUSHMATN ZHA(HE)
1,866,666,680& * 2% 37,334
O'15. BAX-MAH2 T2IHLBAHKE)
2,333,333,340& * 2% 46,667
O'15. 23 d (HBFIE24L) SESAH(XE
) 2,333,333,340& * 2% 46,667
O'1B.AMEXNXNA~-EASWUXNE S2IHE(XHEH
8,000,000,000& * 1.75% 140,000
0'18.82~Jt9 T2 L (X&)
2,000,000,000& * 1.75% 35,000
©'19. 2282 (NEZED-2EDX2) WL
AF(XFEH) 10,000,000,000& * 2% 200,000
O'19. B BAAAANL ZHAL(XE)
5,000,000,000& * 2% 100,000
O'19.HEA-S A T2HT B AR )
3,000,000,000& * 2% 60,000
601 AL =234 11,120,835 28,183,335 A 17,062,500
01 Al -2 - 2XNGHEISUHL S ASHE 3,100,000 21,100,000 A 18,000,000
O'12. AE-B5|2 TRYTFHBA
1,000,000,000& = 1/10 100,000
©'12. 50 ZHOIZY ZAAL
5,000,000,000& * 1/10 500,000
O'15. HER BAAAAL SHAY(XE)
5,000,000,000& * 1/10 500,000
O'15. BEA-2 MY TRHTDA(KE)
10,000,000,000& = 1/10 1,000,000
O'15.2Z=UMPRIEZ2(SL~2S) AL B AH(
Xt&t) 10,000,000,000& = 1/10 1,000,000
0B IE=UHRIE S|4 8,020,835 7,083,335 937,500
©'09. 52U SHE HAOHAE
1,500,000,000& = 1/10 150,000
O'11.QEEEAN =X B2
2,000,000,000& * 1/10 200,000
O'NM.2aE=H224%  1,000,000,000& = 1/10 100,000
©'12.201% HA L =X A
1,000,000,000& * 1/10 100,000
O'15 EEHUSHMATX THAD(KS)
5,600,000,000& * 1/3 1,866,667
O '15. B X -atE2F S 2IE S AH(XHE
7,000,000,000& * 1/3 2,333,334
©'15. 2T H(BFINE L) HEBAH(K&
) 7,000,000,000& * 1/3 2,333,334
O'18.AMNEXNXT-HTDXE T2 (X8)
8,000,000,000& = 1/8 = 3/4 750,000
©'18. 8 Q-IIE2 TR B AH(X &)
2,000,000,000& = 1/8 = 3/4 187,500




2N
X ZH -
L= B

el

Ofl &t 1t
WP s (0llant)
WEAHAH X =

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2

WEHAH XK= 36,227,516 28,180,413 8,047,103

A2 sH2I X H 36,227,516 28,180,413 8,047,103

309 MNEZ 34,115,341 27,038,227 7,077,114

01 SAt- SHINETES 34,115,341 27,038,227 7,077,114
OAld 2B 29H 34,115,341,000& 34,115,341

404 SMNSHIA2EEZ 2,112,175 1,142,186 969,989

01 SAt- SHASEE= 2,112,175 1,142,186 969,989
OAN&EZ2 S XEdH 2,112,175,000& 2,112,175




—— A
N = 0] &F AF S & AN A
20209 &= 20l A LB H AHEEN ~ EESAD
SN LRl X
M oM MBONES 98 UK HE
Sl SO ATREE CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
2 xkel K& 14,599,843 11,833,499 2,766,344
= 3,943,400
g 1,751,794
& 1,384,430
Al 7,520,219
OIA MEOtMS st dXiel &= 14,560,499 11,781,293 2,779,206
= 3,943,400
g 1,751,794
& 1,384,430
Al 7,480,875
el S Sie] TRy Nl [P 11,839,185 9,636,493 2,202,692
= 3,495,400
g 221,794
= 1,198,846
Al 6,923,145
2222 AIY 3,608,800 3,504,000 104,800
101 e1214| 3,600,000 3,500,000 100,000
04 JIZtHI22XNSEE S 3,600,000 3,500,000 100,000
O2Z2Z2Z2 ALY o1222(900Y )
3,600,000,000& 3,600,000
201 et 8,800 4,000 4,800
01 AR 22l ] 8,800 4,000 4,800
OgRFA £=2H| 8,800
Osl 40t 70,000€ = 2804 1,960
OogstsE s M EE
8,000& * 900 * 95% 6,840
NEZ2SH L XA 443 588 410,400 33,188
g 221,794
& 44 359
Al 177,435
101 Q24| 394,314 349,260 45,054
Fag 197,157
& 39,432
Al 157,725
04 JIZtHI22XNSE S 394,314 349,260 45,054
OXNAZSHYKCIAY o2 (629)
394,314,000 394,314
Fas 197,157
& 39,432
Al 157,725
201 2Et24Hy| 4,700 7,540 N 2,840
g 2,350
& 470
Al 1,880
01 AP 2t 2] d| 4,700 7,540 A2,840
OXE2sHLXCAY &2 4,700




2AM: LXel XA ot
HE: 0N MBONES 98 UKol HE
Sl SO ATREE CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXdSsHLelAmY SSXE M
14,2002 » 508 710
s 355
< 71
Al 284
OXNd3sHLXelAmY 2F S0
70,000& = 570K 3,990
s 1,995
< 399
Al 1,596
206 M= Hl 44,574 50,000 A5,426
s 22,287
< 4,457
Al 17,830
01 M= 4l 44,574 50,000 N5,426
OAMND=N HE FL(11H AY, o4&, HIZ
g) 44,574,000 44,574
s 22,287
< 4,457
Al 17,830
QANSENAEH 24 425,500 411,800 13,700
307 gl2tol & 400,000 395,000 5,000
05 RIZHRI & 3 400,000 395,000 5,000
OHFANLNASSRNAME 2
340,000,000& * 10H A 340,000
OHFHELTSE HA 29
50,000,000& = 13l 50,000
OCMME QUIEHION(LAIRS Fe722 oty
o g #A) 200,000& = 503l 10,000
401 Al HI K 2018 20,000 8,000 12,000
01 A& Hl 20,000 8,000 12,000
OLNUSEXNFHH Y B
20,000,000& 20,000
405 XtAHE SHI 5,500 0 5,500
01 HatH ESFH S 5,500 0 5,500
oHlClE=z3H 3,500,000& * 1CH 3,500
O] (99m O] 5t) 2,000,000& = 1CH 2,000
LRI SEXNZLMEHOE FAHI =AH X 106,396 97,146 9,250
= 53,198
Al 53,198
307 21201 A 106,396 97,146 9,250
< 53,198
Al 53,198
05 RIZt2IEt = 106,396 97,146 9,250
OgXelE&NALEH 0l ME FEX =4I
106,396, 000& 106,396




2N
X ZH -
L= B

el

- _ _ RE]
N X8-S (3H) - MEAY - B %Eﬁ HR=2
= 53,198
Al 53,198
Stol= XSS 2Xel & gkt 30,000 30,000 0
201 gBt2A | 30,000 30,000 0
03 A2 EH| 30,000 30,000 0
Oistol= XLHE Xl ¥ 2t &I
30,000,000 30,000
2 xtel 2= 6,850 13,350 A 6,500
201 et 9| 4,850 8,850 A4 000
01 AF 2t 2| H| 2,850 6,850 A4 ,000
O L Xtel 2 Al M= Ot DN M Y =2
30,000& * 1008 * 95% 2,850
03 &AL HH| 2,000 2,000 0]
OgXe KIS s IS M=
2,000,000& = 13 2,000
203 ¥ R =&t 2,000 2,000 0
03 Al ZH =X 2= XH| 2,000 2,000 0]
ogLXe =& gL2= 2,000,000 2,000
HaZI|Y 4 3,800 4,150 A 350
201 Bt 3,800 4,150 A 350
01 AP 22| H| 3,800 4,150 A 350
ornsNHdTIY osd Ml &
400,000& = 1004 * 95% 3,800
S SEEES KNIAE 559,000 350,000 209,000
= 503,100
Al 55,900
307 212t0| & 559,000 350,000 209,000
= 503, 100
Al 55,900
02 DIZFEAAIRE E X 559,000 350,000 209,000
OAlZI 288 s XIS AS(350H)
559,000,000& 559,000
= 503,100
Al 55,900
MNEYE FEEs NEAMHA LAelArY 85,878 0 85,878
= 42,939
Al 42,939
101 e1214| 63,896 0 63,896
= 31,948
Al 31,948
04 J|I2ZtHIZ22NEES 63,896 0 63,896
O+HAEEHE XS AIS 2l (49)
000 * 49 x 78 63,896




orH 2 xel E = (2 &HH)
. _ = o
SA - B .G (3AH) - MBAY - BES gﬁ‘&i HR=2
= 37,948
Al 31,948
201 Bt 982 0 982
= 491
Al 491
01 AP 22| H| 982 0 982
O50AMEENAAY RET 28|
982,000& 982
2 491
Al 491
307 2Iz2t0| & 21,000 0 21,000
2 10,500
Al 10,500
02 QI AAIE E X 21,000 0 21,000
Ok-% OSAHOIE AFY 9,000,000 * 100 A 9,000
2 4,500
Al 4,500
oOUWEMeENs=2a B0/ 2 AIY
12,000,000 = 1JH A 12,000
2 6,000
Al 6,000
A=E ZaEsa 9MHH A LdRelAr (2220 133,122 0 133, 122
2 66.561
Al 66,561
101 @1 214| 127,792 0 127,792
= 63,896
Al 63,896
04 JIZtHIZ22XNSE S 127,792 0 127,792
OZYAEIOE SYMY ol
2,282,000® ~ 8% « 7&€ 127,792
= 63,896
Al 63,896
206 M = dl 5,330 0 5,330
= 2,665
Al 2,665
01 X2 bl 5,330 0 5,330
OZHAEINNER2IAY MHZ Bl 5,330,000 5,330
= 2,665
Al 2,665
AMAFE QA T2 AP 971,948 937,040 34,908
o=t 475,974
Al 495,974
101 e1214| 31,948 22,180 9,768
=} 15,974
Al 15,974
04 J|12ZtHIZ22NEES 31,948 22,180 9,768




SH YRR D
o olM MBOINS Ao ANl B
Sl ot Ol ANl S CEEEED
i - o o
SA - BAEN) - NRAY - LS 0l &F 24 i HRE2
-/

2,282,0008 * 2% * 7% 31,948
= 5,974
Al 15,974
201 LBt A Y| 112,000 102,581 9,419
= 56,000
Al 56,000
01 AlR 2/t 112,000 102,581 9,419
OMUEATZIAY EX S
8,0008 * 22 * 1252 2,000
= 1,000
Al 1,000
osuNY AXE 2,000,0008 * 102 20,000
= 10,000
Al 10,000
o2 E 424 90,000
O=AET 24,0008 * 300 A 7,200
= 3,600
Al 3,600
OZEH EU 220,00020 * 1107} 24,200
= 12,100
Al 12,100

OMAMATIZIAYE MENS 65

5002 * 10,0000 5,000
= 2,500
Al 2,500
OMAFATIZIAY 2RE4Y 2 222 X
= (45) 53,600, 0002 53,600
= 26,800
Al 26,800
202 01 bl 8,000 12,000 A4,000
= 4,000
Al 4,000
01 2UH 01 bl 8,000 12,000 A 4,000
OMMEATIZIAZEE Of bl
20,0002 * 28 * 2002 8,000
= 4,000
Al 4,000
301 LB FHI 800,000 790,400 9,600
= 400,000
Al 400,000
12 JlE 2 & 2 800,000 790,400 9,600
OMAR AEZA ALY BHOX AH 2N
20,0002 * 40,0009 800,000
= 400,000
Al 400,000
308 XXl £ M S0l & 20,000 9,879 10,121

07 X S22 = 20,000 9,879 10,121




M LRel X
I O dEotds e dlel HFE
el oHEmOl ANRlH S CEEEED
A - ER(EN) - AR - B of & o4 SSa HIDZ2
OdlE8 = 20,000,000& * 13l 20,000
Mo g 28X 24 91,176 100,000 N 8,824
= 45,588
Al 45,588
101 1248l 81,326 84,440 A3, 114
= 40,663
Al 40,663
04 DIt 22 XS+ 81,326 84,440 A3,114
OMMNUE ASTAY 2 AU(EF 1
6&) 22,232,000& 22,232
= 11,116
Al 11,116
OMAUTAL AZTAG 2% 12| (L8t 33
6&) 59,094,000& 59,094
= 29,547
Al 29,547
201 fEt2E | 9,850 15,560 A5,710
= 4,925
Al 4,925
01 AtR 2t el | 9,850 15,560 A5,710
OgRFa +=EH 9,850
OSAETX 24,0008 » 309 A 720
= 360
Al 360
o=Zgd &Y 220,000 = 89K 1,760
< 880
Al 880
OAgMEA 2 35 500& * 4,40004 2,200
= 1,100
Al 1,100
ONYES B4 o E22 HH(2E)
3,570,000& 3,570
= 1,785
Al 1,785
OL=H & 8= 200,000 ~ 8% 1,600
< 800
Al 800
FEHY N2 AY 195,000 195,770 ATT0
301 Ltz 60,000 0 60,000
2IJ243 60,000 0 60,000
O3E 512 L XA 60,000,000& 60,000
307 giztol & 60,000 120,000 260,000
02 I BAAMAEE 60,000 110,000 A 50,000
OMOEL ety XA (UHS)
30,000,000 30,000




2N
X ZH -
L= B

el

Off &t 24

=

i
2m

odgolEAN XA (MHEX)
30,000,000

30,000

75,000

75,000

el CHstL X2l e XIS (HS)
75,000,000

75,000

75,000

75,000

H

Al

.

,000,000

900,000
100,000

1,339,777

N 339,777

307 21201 &

H

Al

.

,000,000

900,000
100,000

1,339,777

AN 339,777

&
OXAMAAESE LdXel&EE XA

1,000,000, 000&

=

—_

—_

,000,000

,000,000

900,000
100,000

1,339,777

N 339,777

= N H

—

,438,100
, 161,000

383,130
893,970

1,461,600

976,500

307 glz2tol &

= N W

—

,438,100
, 161,000

383,130
893,970

1,461,600

976,500

o
>
e
e
0
o

Haxtel

©
Pl
i)
0z Jm
s
Pl
o
o
02t

2,438,100,000&

= M W

,438,100
,438,100
, 161,000

383,130
893,970

1,461,600

976,500

=FEED(J0B GO) HALXeIAY

= M W

357,422
195,711

32,342
129,369

357,422

307 21201 A

= MW

357,422
195,711

32,342
129,369

357,422

=
&11(J0B GO) BEAXEIALY
357,422,000&

= Hn W

357,422

357,422

195,711
32,342
129,369

357,422

02t

m
[
MO
ton
0z
0z
IH
H

Py
Im

J

oy

285,162

150,781
26,876

285,162




2AM: LXel XA ot
M oM MEBONES 98 Nl HE
Sl SO ATREE (S &2)
= - _ L=
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Al 107,505
307 glz2tol & 285,162 0 285,162
= 150,781
< 26,876
Al 107,505
02 It M AHE X 285,162 0 285,162
OFHL 23 dMIZME 285,162,000& 285,162
= 150,781
< 26,876
Al 107,505
2ZY oM HAHFY Z2HE 88,664 110,000 A 21,336
= 42,532
< 9,226
Al 36,906
308 XXIEHSO0IA 88,664 110,000 A 21,336
= 42,532
< 9,226
Al 36,906
MOIIERES3 88,664 110,000 A 21,336
OZ22¢ 2l HAFNY ZI2HE
88,664 ,000& 88,664
= 42,532
< 9,226
Al 36,906
Aot ol XJAANG(FHWR) 80,000 80,000 0
= 37,099
< 8,580
Al 34,321
307 21201 A 80,000 80,000 0
= 37,099
< 8,580
Al 34,321
02 QB AAHEX 80,000 80,000 0
OXY stgorais TJAAML(LHENK)
80,000,000& 80,000
= 37,099
< 8,580
Al 34,321
MHI XA 91,774 160,000 A 68,226
= 45,387
< 9,277
Al 37,110
308 XXl EHS0IA 91,774 0 91,774
= 45,387
= 9,277
Al 37,110

10 37 2S0HUHSISEASASH 91,774 0 91,774
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307 clztol & 165,000 0 165,000
80,000
,000
68,000
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02 It HAMHEE 165,000 0 165,000
OsAJlY FEHYA =H Sl NSAE
165,000, 000& 165,000

80,000
,000
68,000

= W
N

BFA HEMY g H7e0E dHAMY 265,500 0 265,500
92,750
34,550
138,200

= MW

307 glztol & 265,500 0 265,500
92,750
34,550

138,200

= MW

02 I HAMAEE 265,500 0 265,500

265,500,000 265,500
92,750
34,550
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= 38,858
Al 90,667
307 glz2tol & 212,025 431,460 A 219,435
= 82,500
< 38,858
Al 90,667
05 RIZHRI &t 3 212,025 431,460 A 219,435
Og+3d dEdXtel A 212,025,000& 212,025
= 82,500
= 38,858
Al 90,667
MBI E LRtel & E 2,721,314 2,144,800 576,514
= 448,000
s 1,530,000
< 185,584
Al 557,730
A EDIY 283 XI& 17,980 10,800 7,180
201 Let2d] 13,130 9,800 3,330
01 At 22l 13,130 9,800 3,330
OMEAIIY HME &2 X& 6,460
OAal®EDIY MS 82 M M
3,000& = 1,600% * 95% 4,560
OABlHEDIIY 22 M=%
2,000& * 1,00000 = 95% 1,900
OMEIFDIY 2zt BHEXJ
200,000& = 1582 A « 95% 2,850
OA2IEIY HHELS H AL WS 3,820
O A=Y 2,540
“OlHESA s 2AE
230,0008 * 3% * 23| 1,380
~H U DT ALY
290,000& = 2H =« 23| 1,160
O THH & 10,000& * 100&A 1,000
O8 =5 70,000 = 40K 280
307 21201 A 4,850 1,000 3,850
02 LB AAFEE 970 1,000 A30
OArZI HIIY Or3tdi0l n e
1,000,000 * 13 * 97% 970
04 QIZFHALAIH B = 3,880 0 3,880
OMIFZMIIY IS
4,000,000& * 13l » 97% 3,880
(GlENAISI DI SH ALY 1,600,000 1,254,000 346,000
z 1,200,000
< 100,000
Al 300,000
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307 21201 & 1,600,000 1,254,000 346,000
1,200,000
100,000
300,000

= A

ES 1,600,000 1,254,000 346,000
S AL 1,600,000,000& 1,600,000

1,200,000
100,000
300,000

= HnH

(G A R DI M2 X &AL 160,000 120,000 40,000
120,000
10,000
30,000

= N[

307 glztol & 160,000 120,000 40,000
120,000
,000
30,000

= N[
>

ES 160,000 120,000 40,000

160,000, 000& 160,000
120,000
,000
30,000

= "
S

ABIEDIY MEIEEE KI# 233,334 180,000 53,334
175,000
,584
43,750

= A
N

307 glztol & 233,334 180,000 53,334
175,000
14,584
43,750

= M

qEx 233,334 180,000 53,334
2 AtslE2EEE X& 233,334,000 233,334
175,000

14,584
43,750

= H A

AN EIIS AFSEOHEHl XI& ALY 600,000 530,000 70,000
420,000

54,000
126,000

= N H

307 glz2tol & 600,000 530,000 70,000
420,000

54,000
126,000

= N H

22X 600,000 530,000 70,000

&
2 AFZOHEHl XI&AE

600,000,000& 600,000
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28,000
Al 12,000
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40,000 0 40,000
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28,000
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70,000 50,000 20,000
35,000

7,000
28,000

= N[

307 21201 A 70,000 50,000 20,000
35,000
7,000
28,000

= M
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e
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70,000 50,000 20,000
Obt=J1g s4dAe 70,000,000& 70,000

35,000
7,000
28,000

= M

02
0
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02
o
=
™
=
o
=
o
=

39,344 52,206 A 12,862

Jl2&tl 39,344 52,206 A 12,862

Jl=33H 39,344 52,206 N 12,862

| 14,456 15,216 AT60

H
H 14,456 15,216 AT60
[(O1=24l)

8,000& = 12 * 82 » 128 x 95% 8,756
OJledRdasd (OI=3Hl)

500,000 = 12 = 95% 5,700

202 o4 Hl 21,888 23,040 A1,152

01 SLHOIYI 21,888 23,040 A1,1562

©oidl (D1 EZHl)
20,000& * 12 = 82 » 128 ~ 95% 21,888
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I
>
=2

3,000 3,000 0

x| 10
Ho
0%
11
10
I

] 3,000 3,000 0
501013t) 250,000& » 123 3,000
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S
MHH
12
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2N SRR D
HH: SXRX
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Sl MSEE S Y SXRX

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
E XS X 11,964,849 13,779,293 N 1,814,444
EXNSX B0 € JIgXNE 23t 11,916,420 12,275,353 A 358,933
AMNEE S8 )Y EXNSA 36,826 37,320 N494
EXNSX E= 36,826 37,320 N494
201 2Et2Hy| 31,826 32,320 N494
01 AP 2t 2] H| 23,506 25,160 AN 1,654
OEXNSEX =2 H &
4,000 * 5,0008 * 95% 19,000
OEXNRINNERZE S J2AXNE HE
300,000& * 43| * 95% 1,140
OJILAEBXEIAHA 018 =2
3,366,000 * 13| 3,366
02 B32%H| 3,320 2,160 1,160
OEXNRX 28 M U5 2R3
830 * 4,0008 3,320
03 A2 HH| 5,000 5,000 0
OFHZF=A CEOZ=HZ2IE 3| 5,000,000& = 13 5,000
203 ¥ 2 =&t 5,000 5,000 0
03 AIZH =& 25X H| 5,000 5,000 0
OEXNSKX =& 5,000,000& 5,000
HOIASE HHE 4 6,819,200 7,542,700 A 723,500
NAM2AA(SIEESE, HIOI222) 4 2,000 2,000 0
203 R F & 2,000 2,000 0
03 AIZH =X 2= X H| 2,000 2,000 0
OXEHMetMH ALK 2,000,000& 2,000
QCEFUOSAMIARNESIHE X 3,430,000 3,250,000 180,000
306 52 3,430,000 3,250,000 180,000
01 s2 3,430,000 3,250,000 180,000
OLSEUYZTALAI=STHHE 2HH XA
2,180,000,000& 2,180,000
OLEEUSAAXNS IS HARIHEH K&
1,250,000,000& 1,250,000
SE NMESFEE2E JdRe X 1,000,000 1,000,000 0
306 52 1,000,000 1,000,000 0
01 52 1,000,000 1,000,000 0
OE=MSBEEE PN XY
1,000,000,000& 1,000,000
Q5 CBOLE 299 1,200 2,400 A 1,200
201 gBt24y| 1,200 2,400 A 1,200
03 A2 G HI 1,200 2,400 A 1,200
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5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
0O2E CE0EY 2¢Y 1,200,000& 1,200
Hol2Alete otdd 2 T4 BIHXR 386,000 362,000 24,000
306 £ 3 386,000 362,000 24,000
01 &3 386,000 362,000 24,000
OBioI2AHctY otdd X Rad BIINE JI
BFREUIEE)(US) 386,000, 000& 386,000
S HOI2AAUHICHOEH += 200,000 2,726,300 A 2,526,300
306 ¢ 2 200,000 225,000 A 25,000
01 &3 200,000 225,000 A 25,000
OESEHIOI2MAUHIAHOIH *EH(US)
200,000, 000& 200,000
ey Ssd2Hey XN& 200,000 200,000 0
308 AHAIEHHSOIA 200,000 200,000 0
1037/ 2S0HUHeBHEAEALS I 200,000 200,000 0
OBtHESE s dH 8 AL (4
HEZ)(UHS) 200,000, 000& 200,000
ESITSHEIMHAAZ HAH XA 850,000 0 850,000
308 XX EHHSOIA 850,000 0 850,000
07 IXNHMARE = 850,000 0 850,000
OO0 & E S HEIMFAAT SHAH JHZ
850,000,000 850,000
NEXZH &EESXNFAAE 2= 750,000 0 750,000
403 MHXISHE X201 H 750,000 0 750,000
02 SO 2SO HEHAHE X 2| &AL H 750,000 0 750,000
OMIZXZH &SsXNAAE 25 X (HS
) 750,000, 000& 750,000
NS SAaEey MEH =4 933,881 2,006,761 A 1,072,880
A2t HE ALY 183,881 943,761 A759,880
201 L4l 1,861 1,741 120
01 At 22l 1,861 1,741 120
OSdl HUS=E=(5) 1,861,000& 1,861
203 ¥R =&l 1,000 1,000 0
03 Al =AY 2= 1,000 1,000 0
odtgsyd g2 =& 1,000, 000& 1,000
301 LEMZ 1,020 1,020 0
09 SALAHIX A S 1,020 1,020 0
O4tst 2t o] FHA X 4l
8,000& = 10¥ = 43 320
OSBRI Bt2s W MEK A8
50,000& = 14& « 13 700
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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
308 XHXIEHSO|A 180,000 290,000 A 110,000
10 212 SUHUSHEAEAE AT Y| 180,000 290,000 A 110,000
OAZQES XNFANG(HE) 30,000,000 30,000
OX A AR S AL 150,000
OXNAMTHAIEESAISE (HE) 130,000,000 130,000
OXATHARZS ALY (KHA) 20,000,000 20,000
2| HALE XJ 750,000 970,000 A 220,000
307 212t0| ™ 150,000 170,000 A 20,000
02 QI2tAAMAIE E =X 150,000 170,000 A 20,000
O=EZEI|=&AdMEH XA (THE)
20,000,000& * 100 20,000
OZJI&Z2AIIIK KNEAIS(HE)
50,000,000& * 1JHA 50,000
ONOIHAHOA 29 XEAE(HE)
10,000,000 * 200 £ 20,000
OXAEEHH S H3AIY
30,000,000& * 200 AFE 60,000
308 AMXISHMSOIA 600,000 800,000 A 200,000
10 B 2SO USHE AN E AIS Y| 600,000 800,000 A 200,000
OFXHAMESANAEH AGgEZ2 ) 2AXA
300,000,000 = 10 A 300,000
OJlsdT AEIEY R KA
75,000,000 * 40K At 300,000
A AtHEE MET A S 4,126,513 2,688,572 1,437,941
HBICHSEESE A&)ls ANIHMEH =AY 1,800,000 2,400,000 A 600,000
403 XX SHHS K20 & 1,800,000 2,400,000 A 600,000
02 BI2SHUESXA=2EAEAIS Y 1,800,000 2,400,000 A 600,000
OB HESEEZAMIESNALME R=(3XE
T)(He) 1,800,000,000& 1,800,000
ATE/AON OleHHS AFY 319,818 0 319,818
201 Bt 4,818 0 4,818
02 2224 H| 4,818 0 4,818
OSWOICH I S A Al A 22l 4,818
QuEggYgse=2 2,000,000& = 13 2,000
Od=Ez= FANELEE
195& * 1,204m = 12& 2,818
308 AHXIEHSOIA 315,000 0 315,000
10 B 2SUHUEHEAEAE AT Y| 315,000 0 315,000
OWOISHIH S AIE (2XHE E)(HE)
315,000,000 315,000
HESA AQEZ2ZE REAY 349,440 209,000 140,440
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308 XHXIEHSO|A 349,440 209,000 140,440
10 212 SUHUSHEAEAE AT Y| 349,440 209,000 140,440
OADIEZZE BSAIE(HE)
12,480,000& = 28JH Ak 349,440
4%t MRS H olETZ2 XM 407,255 7,200 400,055
201 et d| 7,255 7,200 55
01 AFR 2t 2| H| 5,855 7,200 N 1,345
OZ22 & 4AXMEEH HE =
2,500,000& = 23] 5,000
O4x MYEEY g L =2EXE MHE 855
o829 H& 50,000 = 60 * 95% 285
Os=2NEs HE 600 * 11,0008 * 95% 570
02 22244l 1,400 0 1,400
O4% HYEY EPES B BRI
350& = 4,0008 1,400
306 52 400,000 0 400,000
01 52 400,000 0 400,000
O==EHIAL0A 29X« 400,000,000 400,000
ANEFHI NIHAEHE FH 1,000,000 0 1,000,000
403 XX SHHS K20 & 1,000,000 0 1,000,000
02 2I2SOUSA2EAEAIS Y 1,000,000 0 1,000,000
O=2 NEZTHNSXH HAEHE REAH(2
FEE)(tHE) 1,000,000,000& 1,000,000
EE FF ALAHPNEER 4 250,000 0 250,000
306 52 250,000 0 250,000
01 52 250,000 0 250,000
OF2 HE YLADNLST FH(US)
250,000,000& 250,000
HESHAAY (EXNS X D) 48,429 53,940 AN5,511
JlE&dl 48,429 53,940 AN5,511
Jl2&Hl 48,429 53,940 AN5,511
201 et d| 18,069 19,020 A 951
01 AP 2t 2| H| 18,069 19,020 A 951
OJl2gLssAd| 500,000& * 159 * 95% 7,125
o2& (21=&Hl|)
8,000 159 x 82 * 128 » 95% 10,944
202 o4l 27,360 28,800 N 1,440
01 2L HI 27,360 28,800 N 1,440
©OJle&dHl
20,000& * 159 % 8L * 128 x 95% 27,360
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203 YR =&l 3,000 3,000
04 FEMN2EHRFTY 3,000 3,000
©J|F X (152! 0ldt) 250,000& = 12& 3,000
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20209 &= 20l A LB H AHEEN ~ EESAD
RPNl
Dol B2 Y X4
D ARJyE JIgXE (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
J1 S X<t 8,025,135 8,170,794 A 145,659
= 40,000
Al 7,985,135
Aok E2 & =4 251,660 409,268 A 157,608
LAl e JIg X 244 668 397,620 A 152,952
A0 XA 175,216 286,020 A 110,804
201 et 37,866 37,620 246
01 AP 2t 2] H| 37,566 37,320 246
ORUBAINY AZHE HE
300,000& * 1500 * 95% 4,275
ORLJ|gel EEIH 100,000 * 1500 = 95% 1,425
OzAJIY MBS &Als &I A&
1,000,000& = 3000 AF * 95% 28,500
OJIZgAE ZX3IANEIA Ol
3,366,000 * 13 3,366
02 =224 H| 300 300 0
CEES e -SRI
300,000& * 13| 300
203 R F & 3,000 3,000 0
03 AIZH =& 2= X H| 3,000 3,000 0
OJIEXNE gR=4A 3,000,000 3,000
301 et A = 400 400 0
09 SHAIAHI X & 2 400 400 0
OEAJIY/H A2 s HFAX SAH|
8,000& * 25 x 23| 400
307 2iz2tol A 33,950 75,000 A 41,050
02 QIZ2IA AAIE E X 33,950 75,000 A41,050
OJg =8 LEHAEMHA XSAL
35,000,000 * 97% 33,950
308 XHXIEHSO|A 100,000 170,000 70,000
10 212 SUHUSHEAEAE AL Y| 100,000 170,000 70,000
oOgeE =AM 23 SA0|Y J=He XN
5,000,0002 * 1004 At 50,000
OR+EAJ|g T2 HLE
5,000,000& * 1004 At 50,000
HFEA JIY II0IE SBHH 3| 17,460 18,000 AN 540
307 2I2t0| & 17,460 18,000 AN 540
04 SIZ2HSHAAISH E & 17,460 18,000 AN 540
OF Al J1Y H0lE Sttil 3l
18,000,000& * 13| * 97% 17,460
SA0|Y CEO H&F2s = 5,820 6,000 A 180
307 212t0| ™ 5,820 6,000 A 180
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04 DI2HHALALSE E X 5,820 6,000 A 180
O340l CE0O 23 W=
3,000,000& * 23| » 97% 5,820
Jlgolol o 29,100 30,000 A 900
307 glz2tol & 29,100 30,000 A 900
04 DIZHHALALSE E X 29,100 30,000 A 900
oJlgelo ¢ 30,000,000& * 13| *» 97% 29,100
Jlgelgos /35 17,072 17,600 A 528
307 glz2tol & 17,072 17,600 A 528
04 QIZFHALAIH E = 17,072 17,600 A 528
OFFAIILAEE S M4HFH Y TG 17,072
Ot & /A3
17,600,000& * 13 * 97% 17,072
A SEFLY X 6,992 11,648 A 4,656
H3BAIEE B H 6,992 11,648 A 4,656
201 Let24E] 6,992 11,648 AN 4,656
01 At 22l 6,992 11,648 A 4,656
ORMBBAEE LHEA AHEEHY (A,
SterJl)  368,000% * 2 * 5 x 23] * 95% 6,992
AU LA RE2Z2 XALY 2 390,174 411,159 A 20,985
= 40,000
Al 350,174
AMYUM L ADIB =M 390,174 411,159 A 20,985
= 40,000
Al 350,174
SAEE X2 AY 133,030 143,473 A 10,443
201 ¢er24| 950 1,000 A50
01 At 22l 950 1,000 A50
oMUY A& 950
O4I 100,000& = 300 = 95% 285
O==x(2Ag) 350,000& = 200 = 95% 665
301 LEXZ 1,216 1,168 48
09 HALAMHIXI &3 1,216 1,168 48
OXS - AtBIEE 25 AT SAH 1,216
o232 M= 8,000& = 22H =« 23| 352
OaREAS Mzl 8,000& = 18 « 63l 864
307 21201 A 130,864 141,305 A 10,441
02 QB AAHEX 48,500 50,000 A 1,500
OL=sA &P A 12,000,000& * 23| * 97% 23,280
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ORYHL- S oo 23 &gt
1,000,000 = 269Y * 13| * 97% 25,220
03 QIZI X EHAESIHIEX 82,364 91,305 N 8,941
O AMBIAEANRZZ2 29| 82,364,000 82,364
LSS Y AL 9,700 10,000 A 300
307 gizto| A 9,700 10,000 A 300
04 CIZ2tSHALALSE B = 9,700 10,000 A 300
OLs X Y A 10,000,000& * 13 * 97% 9,700
L A0S Seti gl 6,790 7,000 A 210
307 QI2t0| & 6,790 7,000 A210
04 CIZ2tSHALALS B X 6,790 7,000 A210
OLALEOIS Sttt 3l
7,000,000& * 13| * 97% 6,790
LAISHOIE D= HEsU 3l 29,100 30,000 A 900
307 QI2t0| & 29,100 30,000 A 900
04 CIZ2tSH ALALSE B = 29,100 30,000 A 900
O AtStOIS JIE dM=U3E
30,000,000 = 13 = 97% 29,100
N AIEE LS NJAS 62,730 62,940 A210
= 40,000
Al 22,730
307 gizto| & 62,730 62,940 A210
= 40,000
Al 22,730
02 QIZ2IA AAIE E X 62,730 62,940 A210
OXSE L AT HELS ALY 55,940,000 55,940
= 40,000
Al 15,940
OL AN Ax=AS A3AS
7,000,000& * 97% 6,790
2E2=2XAIE 222 148,092 156,976 A 8,884
307 QI2t0| ™ 132,472 132,472 0
05 QIZtREZ 132,472 132,472 0
O=2UIZ2ZNEZE=X& A 132,472,000 132,472
A& H 220 15,620 24,504 N 8,884
01 Al&H| 15,620 24,344 N8,724
OHM3ZE AN&E2E2 FIEZ (EUHZZNSE =S
) 4,800,000& = 23| 9,600
O2UH22ANE2X3 2 JsELZ2A
6,020,000& = 1JH 2 6,020
AN A 22 732 770 A 38
201 et 9| 732 770 A 38
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01 At 22l 732 770 A 38
OHIALMAL SAXLSE 732
Oz ANz (II) 230,000& = 2H = 95% 437
OZAZE (=) 120,000& » 2% = 95% 228
o8+ 70,000& = 13| = 95% 67
=MUE 23t 165,310 185,900 A 20,590
S MRS AME 165,310 185,900 220,590
SHnE 43 165,310 185,900 A 20,590
201 Let24d] 32,100 29,400 2,700
01 At 22l 14,200 13,300 900
O=HMuIAY =& 2,820
ooz 50,000& = 100K = 33| = 80% 1,200
Osgz 300,000& = 2 * 32| * 90% 1,620
O&%o Y Lutqel 2,380
Og+=9 M 70,0003 = 2008 = 85% 1,190
O=8t+g 70,0003 = 2000 = 85% 1,190
O=HuUFEA =X LIS
500,000& = 98 » 29H 9,000
02 =224l 17,900 16,100 1,800
OAZF ZHAY 22 12,500, 000& 12,500
O=MuREZA H==HF s, E8=2
300,000& = 9& » 29H 5,400
202 04l 40,000 60,000 20,000
03 =220l 40,000 60,000 220,000
OHFA 22 2YAYLDE ALEX
40,000,000& 40,000
203 YR =2 6,000 11,000 A5,000
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O3sJIEt M=+ =X 22l
16,096,000& * 13l 16,096
O=2LIetAlAE S/W KX 22l
32,734,000& * 13 32,734
HYMLATH SHSAEFA 532,200 988,263 A 456,063
405 XHoHF S HI 532,200 988,263 A 456,063
01 AR ESFH S 532,200 988,263 A 456,063
oReloAWII| 2o (AT)
25,000,000& =« 20H 50,000
ORQIUALZI| YWEKAT 2 Zdl(VPN)
1,700,000& = 1CH 1,700
ORQUALZI| UWERKZD Ful
1,500,000& = 1CH 1,500
OYRE daFHl WA 479,000
Ol sz =H 1,400,000& * 305CH 427,000
OxZelg 600,000& = 80CH 48,000
O2UH 400,000& = 10CH 4,000
=2 MNEXOIOHAEH 2N 226,000 0 226,000
306 =93 226,000 0 226,000
01 &3 226,000 0 226,000
OSSAMEXOICHNY 2L 2€3(UHS)
226,000, 000& 226,000
ADLE AB S4& TAl MHIA 28 420,000 420,000 0
MHEEZASH L L ALY 20,000 20,000 0
308 XXM SO0 A 20,000 20,000 0
10 B3I/ 2SS B&EEALS I 20,000 20,000 0
odg ol et ALY XIR (0lch & Xt = XHR8D,
us) 10,000,000& * 13l 10,000
OUUHSOIALAAT R (ANEBHSY M
A, Hs) 10,000,000& * 13l 10,000
SESZEZHNYHH2Y 400,000 400,000 0
308 A EHHSOIA 400,000 400,000 0
1037/ 2S0HUHeBHEAEALS I 400,000 400,000 0
OZE=SZ22YE N HH =LA (HS)
400,000,000& = 13l 400,000
MBI ASctEs HO0X 29 568,812 468,900 99,912
HFAl QIHUAIAE HEAN 2H 568,812 468,900 99,912
201 Let24d] 442,862 468,000 225,138
01 At 2teltl 22,650 52,850 230,200
©E-Book HTMLS £2& ZdI0lE
12,650, 000& 12,650
OHAIOIE E&EQSB 10,000, 000& 10,000




A 3E2SA
Ha: 210 @2 2 DO -BF P
chel A2 ASdteE %MIOI A2 (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
02 3322l 420,212 415,150 5,062
OoHY SHe&el 2Xdl 42,0008 * 208 840
OAMMIA(FUE) IS AEZ(HIAMY)
550,000& * 13 550
OAHEZMHOIX SSL CIEM MEZ
448,000& * 1& 448
OAMMIA(FUE) 25 AEZ(AUE)
3,000,000& * 13 3,000
OUMHI(MEEY, HY) 9= ABE
1,100,000& * 13 1,100
©gl2tot0lE 2010E MEZ
550,000& * 13 550
OZXUHAIXNIMEIA Ol EZ
150,000& » 54 « 12& 9,000
OAl EHOIX S8 SAE=H 184,116
OUE EHOIXN S 138
5,180,000& = 12& 62,160
OAMSLAEHOX S 168
4,545,000& ~ 123 54,540
OWLCIEHOIX S 243
5,618,000& = 12& 67,416
OZHOIX 2% AZENH XL =HI 91,692
OUE EHOIK 28 A2ZE2I0{(DBMS, Webt
oB, Jeus) 2,447,000& * 128 29,364
OZHO0IX Jt&st 248 AZEYA
866,000& = 12& 10,392
OZHOoIX 24 24 255,000& = 12& 3,060
OEbook 28 &84 207,000& = 12& 2,484
ONMH EotZ 2 90,000& = 12& 1,080
OEHOIXN 45 2LIHY A2ZEN
130,000 * 123 1,560
OMHIA F2tE 45 2UHE 2ZEAA
369,000 * 123 4,428
OEMHOIX AL 2ZTEQON(28)
604,000& = 12& 7,248
OZHOoIX sSHEA 363,000& = 12& 4,356
OZHO0IXl DB S 3t 183,000& * 123 2,196
OdZH 162,000& » 12 1,944
SEEoACANAY 29 AZEAAH(2B)
792,000& » 12& 9,504
OZBZMUHAAE 2 AZTEN(2B)
825,000& » 12& 9,900
OSHOIX =HUIIAIAE
348,000& » 12 4,176
OAZHOIX StEANH 28 |FXE=HI 128,916
OEZHOIX MHAZS 22l At (130)
3,055,000 * 12& 36,660




2N
X ZH -
L= B

el

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OBordHIE 22l (501)
556,000& 128 6,672
OXMZHEX(6TH) 2,379,000& 128 28,548
OUIER A ZHl(11H) 1,813,000 128 21,756
OYse s Bot&dl(1204)
2,630,000& 128 31,560
OHlol= s =H|(2CH) 310,000 128 3,720
207 A T OH ] 20,000 0 20,000
02 & AHJHEHH] 20,000 0 20,000
O&AE2H AEfEZAL 20,000,000& 20,000
301 dEtE A= 900 900 0
12 J|EtE &2 900 900 0
OZMHOIX AISIEN Al&aZ 900
OHEE XA OIHIE EHAEX B4
30,000& * 30Y 900
405 XHaHFE S| 105,050 0 105,050
01 JHMt = S F SHI 105,050 0 105,050
OQEHUWUEBAAL QT D3 105,050
OL4 A2IX WX 24,200,000& = 4CH 96,800
OHMANH 8,250,000& * 1CH 8,250
HHEA HBSA MHA B2H A2 3,045,089 2,280,789 764,300
T 27,788
Al 3,017,301
HESAMAAE N 29 2,292,120 1,837,225 454,895
201 et A | 1,875,580 1,639, 125 236,455
01 AFR22t2ldl 33,250 35,000 A 1,750
O#HY NG HSE H b 11,590
Ofolg g2t s
2,000& = 2,0000H * 23] * 95% 7,600
OfRNE HYNMGFHS S
700&® = 3,00000 ~ 23] * 95% 3,990
OsSKHEE RANELE A2E 2 15,200
OUTP AHIOI= 100,000& * 508FA % 95% 4,750
e 100,000& * 308tA % 95% 2,850
OdlB4=2E) 100,000& * 4000 * 95% 3,800
OdlE (8L E) 200,000& * 2000 * 95% 3,800
O#H™ NG, FAX A2 P2 H| 6,460
OEUHIIERIX 220,000& * 5JH * 95% 1,045
OEZH JtECIX 300,000& * 5J0 = 95% 1,425
OE=zZH EX 120,000& * 108 * 95% 1,140
ONSE+3| 30,000& * 10000 * 95% 2,850
02 3524t 1,842,330 1,604,125 238,205




A 3E2SA
M 21 = Lo - ¥
e AEFSY FESH NMHA 83 WS (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFESA BoAIAE S E=Hl
11,114,000& * 128 133,368
OFESH HERIANLAE XLt
20,365,000& * 12&8 244,380
OIPESWEAAE 2K E=HI
6,901,000& = 12& 82,812
OS2 AANAE KRXE 4
968,000& = 123 11,616
ORFHMAZ=EX(2H) R NE=H|
251,000& » 123 3,012
og=2gsl(2l) RNl
172,000& 128 2,064
OHISEANLE RXE 28I
857,000& = 12& 10,284
ORETHEXNANAHE FXE=H|
352,000& = 123 4,224
OIP Zel& 2ol A 20,000& * 2,0004 40,000
oA RAE=HI 47,7803 = 1020CH 4,874
OFSES = 251,712
Oy ™ gt 12,000,000& = 12& 144,000
OYerd g (QlEY)
30,000& = 12021 « 123 43,200
o2 adz
33,000& « 553/ « 123 21,780
OMHEME Addst
33,000& « 172l « 123 6,732
O UHAMHIA Seatel S
3,000,000& » 122 36,000
OdE3HE MEE 1,053,984
(OEL FSE= IR 103,680
&3t g 27,000& = 32032l « 123 103,680
O=tEeEsdsa8Y 918,000
—200M 1,500,000& * 43| & « 123 72,000
-30M 700,000& = 703l & = 128 588,000
—4M 300,000& » 253l « 123 90,000
-2M 200,000& = 703l » 12& 168,000
OBOS&E3ld  466,000& » 23l » 123 11,184
Ot #™ M3 2,200& » 8003l » 123 21,120
401 A& HIZ 201 Y] 50,540 50,540
01 A& HI 50,000 50,000
OAMPA THHIXIN HE FUHSAMLAZIAMN(2H
NEERY 5,000,000& * 1094 2 50,000
03 A& S THHI 540 540
OFUHSHEZ S A 50,000,000& * 1.08% 540
405 Xt&tE SHI 366,000 147,560




SN HESAD
MM 21 8=2 DO u-ExF F2&
e HEEZA FESA MHA B2H HB (2 &HH)
_ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
01 AL 2 ZF S| 366,000 147,560 218,440
OFEEAN =5 HERZA UM 200,000
OHWEAI(2F) 100,000,000& * 2CH 200,000
OUHER3 ds2c2 AAd
145,000,000 = 1CH 145,000
OH™E I (IPT) 500,000 = 30CH 15,000
OTAD|D] 600,000& = 10CH 6,000
melgst ESAl olzZet X4 30,270 30,324 AbB4
401 Al HI L E0HHI 30,270 30,324 AbB4
01 A& HI 30,000 30,000 0
OUE0ESAIE 222000 2 ALY
30,000,000 * 1= 30,000
03 Al&E 201 Y| 270 324 AbB4
OZ2Z220/II0] 2= ALY
30,000,000& * 0.9% 270
HA Z2220/010] &0 REAY 125,089 103, 380 21,709
& 27,788
Al 97,301
201 et | 125,089 103, 380 21,709
= 27,788
Al 97,301
02 222 4| 125,089 103, 380 21,709
OHA Z2Z220/I0] X SHAFY 125,089
OHA Z2Z220lI0l 2 (XHA)
41,6203 * 650 ~ 12€ 32,464
OlA 22210/ 0}0] 2H(EX)
92,625,000 92,625
= 27,788
Al 64,837
OISt AlAE X A& 597,610 309, 860 287,750
402 BI2H X 20| M 597,610 309, 860 287,750
01 SI2ZEXIEANYEXR (MMM A) 597,610 309, 860 287,750
oaER OIS AIAE AX XH(6IMOIS)
167,220,000 167,220
OANRT OlSYsAIAE AX KR (3M0tE)
74,930,000 74,930
OEY R OlSsYsAlAE AX KA BIMOIE)
121,680,000 121,680
OFAN NiSYsAIAE AX KR (9QMOtE)
233,780,000 233,780
E A0S AHA DHOEE AH 88,159 45,898 42,261
HESH 0APR =& 8,935 31,300 N 22,365
201 et | 8,935 9,300 A\ 365




EX: AEsSA
Ha: 210 @2 2 DO -BF P
el EAOIR AHIA DAUE A (el @2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
01 AP 22| H| 6,935 7,300 A\ 365
OMEHZEAI SHEH WdE>2
1,500,000& » 2X * 95% 2,850
oSk 8= HE 4,085
OFAIX] 300 « 10Z = 5008 * 95% 1,425
oEE= 1,400 * 2= * 1,0008 * 95% 2,660
02 232%H4| 2,000 2,000 0
OAMNESHEAI SEHEH KRAXH 2,000,000& 2,000
SOIHHEAX(ER) HYAL &2 79,224 14,598 64,626
201 et 54,224 14,598 39,626
01 AP 2t 2| bl 9,500 6,600 2,900
OE=Z2 ARER(HIHZ )
3,000,000& = 1JH = 95% 2,850
OEEMEBXAZ)|IzUE
3,500,000& = 22 x 95% 6,650
02 2% H| 44 724 7,998 36,726
OEEEg H#AYH 700,000  3CH 2,100
otzstzgas HEXAAAE S/W KXY
2,750,000& = 12& 33,000
otczstzgas HEXAAAE H/W XY
650,000 ~ 12€ 7,800
OEZ2 AlAE SXH (=230, HEPCE)
152,000 * 12& 1,824
405 XHAHFI S HI 25,000 0 25,000
01 XAt 2 Z F S| 25,000 0 25,000
OEZ2IJIRY(LEISHEY, RIKEM)
25,000,000 = 1CH 25,000
HESHAY (BESAN) 70,795 74,300 A 3,505
JlE&dl 70,795 74,300 N 3,505
Jl2&Hl 70,795 74,300 N 3,505
201 et 9| 30,115 31,700 A 1,585
01 AP 2t 2| H| 30,115 31,700 N 1,585
oJl2geLdistsAL (J|=AHl)
500,000& = 25% * 95% 11,875
o3I (J1=ZHl)
8,000 259 x 8% x 128 *x 95% 18,240
202 04| 36,480 38,400 A 1,920
01 2L Y| 36,480 38,400 A 1,920
O=LoHI(JI=ZHl)
20,000 * 259 « 82  12&€ * 80% * 95% 36,480
203 €2 F=&d| 4,200 4,200 0
04 EANSIELR2F=XH| 4,200 4,200 0]
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